Orebridgen
KM lag IAF omg 6 halvlek 1 2021-09-30

IMP over faltet, 12 bord, 24 par. Antal brickor: 12.

Plac Par Poéng Namn MID
1 305 3.13 Jorgen Pihl - Pasi Kallio 17271 4029
2 303 2.26 Bertil Blomgyvist - Rolf Johansson 7823 11078
3 104 2.05 Therése Andersson - Annika Forsberg 35554 25019
4 302 0.94 Leif Andersson - Jimmy Herrdin 2967 81411
5 6 0.92 Per-Arne Pettersson - Erik Spangberg 10898 140
6 4 0.88 Karola Hogberg - Lars Lilja 17222 4118
7 5 0.75 Thorbjoérn Fredriksson - Tomas Persson 45513 13449
8 3 0.59 Ann-Christin Ahlstrom - Dejana Sverker 31274 50940
9 106 0.40 Jorgen Pedersen - Thomas Tillander 64550 48512
10 1 0.33 Thomas Brehmer - Johan Gronkvist 4133 8342
11 2 0.22 Kenneth Wallin - Peter Arlegard 1597 4024
12 101 0.18 Lennart Johansson - Gert Bodén 20178 4113
13 301 -0.18 Klara Gustafsson - Tobias Bern 67625 66187
14 202 -0.22 Adam Winberg - Linus Jorner 2950 67
15 201 -0.33 Kent Karlsson - Conny Svensson 4155 7638
16 306 -0.40 Goran Sandahl - Jan Ekstrom 33497 60409
17 203 -0.59 Magnus Hultman - Leif Ernstsson 14044 13674
18 205 -0.75 Lars S Karlsson - Claus Réhnisch 63419 4081
19 204 -0.88 Bjorn Forsberg - Krister Berg 8319 9747
20 206 -0.92 Jarl Jénsson - Ann Johansson 32936 32933
21 102 -0.94 Rolf Selander - Bjorn Andersson 7824 14660
22 304 -2.05 Gun Réhnisch - Inger Hultstrand 10595 31088
23 103 -2.26 Lars Lundqyvist - Lena Lundgyvist 6692 25982
24 105 -3.13 Karl-Erik Nilsson - Dan Storas 46221 64231
1 493 Basta kontrakt 2 D8 Basta kontrakt 3 a2 Basta kontrakt
Nord vE64 54 O =-450 Ost v ED9765 44 O D -3500 Syd vKD10976 4v SD-1-100
Ingen + 8654 NS + KD7 ov + DKn86
#KD84 & ¢ v & NT *73 & ¢ v & NT +D4 & ¢ v & NT
4 KKn8754 4E6 N8 27 22 4 K765 4 Kn9432 N 9 109 5 8 4 D543 4 EKKn8 N489 46
v2 v KKn98 S827 22 vKn832 vK4 S 10109 6 9 vKn v E842 S 48946
¢ EKKn72 ¢+ D109 O5 116 119 +5 ¢+ Kn864 03337¢4 4975 ¢ K32 085396
*6 #Kn1093 vV 5 116 119 #KD95 4102 V33374 #EKN1052 %63 V84396
4 D102 4 E10 410976
vD10753 v10 v53
+3 + E10932 +E104
#E752 #EKn864 #K987
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
2202 3NO= 3 -400 18.0 -18.0( 2 202 3NS+3 44 690 98.0 -98.0 (104 304 44 V-3 vK 300 62.0 -62.0
106 306 3NO= &2 -400 18.0 -18.0| 4 204 4v N= «J 620 84.0 -84.0( 3203 2NO-2 ¥5 200 33.0 -33.0
3 203 44 V= &K -420 9.0 -90| 3203 3NS= 46 600 79.0 -79.0( 4 204 44 O-2 v5 200 33.0 -33.0
4 204 44 O= 43 -420 9.0 -9.0(102 302 3NS= 46 600 79.0 -79.0| 1201 3v N+1 A 170 220 -220
5205 44 V= &K -420 9.0 -9.0(104 304 3NS= &K 600 79.0 -79.0| 5205 3v N+1 #6 170 22.0 -22.0
104 304 44 V= &K -420 90 -90| 1201 3v N+1 42 170 -9.0 9.0| 6206 2v N+2 &A 170 220 -220
103 303 44 O+1 &K  -450 -3.0 3.0(106 306 2v N+1 #T 140 -16.0 16.0| 2 202 44 O-1 ¥5 100 10 -1.0
6 206 44 V+2 49 -480 -13.0 13.0(103 303 4y N-1 42 -100 -65.0 65.0|101 301 44 O-1 ¥5 100 1.0 -1.0
102 302 44 V+2 vA  -480 -130 13.0|105 305 4v N-1 &T -100 -65.0 65.0|102 302 44 V-1 vK 100 10 -1.0
105 305 44 V+2 &K -480 -130 13.0| 5205 5¢ S-2 &K -200 -880 88.0/103 303 24 O= ¥5 -110 -56.0 56.0
1201 4NO+2 v3 -490 -15.0 150| 6 206 4vy N-2 &T -200 -88.0 88.0|105 305 24 V+1 vK -140 -650 65.0
101 301 3NO+3 ¥5 -490 -15.0 15.0(101 301 3NS-2 46 -200 -88.0 88.0(106 306 24 V+2 &Q -170 -76.0 76.0
4 « E64 Bésta kontrakt 5 & 107 Bésta kontrakt 6 443 Bésta kontrakt
Vast v EKn54 34 V =-140 Nord v D843 2NT O =-120 Ost v 832 ANT S =430
Alla ¢ EKn5 NS + E832 ov + EKKn
*K43 & ¢ v & NT *K52 & ¢ v & NT #EKNn875 & ¢ v & NT
4KD108 4 Kn952 N6 6847 4 E93 4 K5 N4 3685 4 EK1065 472 N 8 9 108 10
v 9632 v7 S 66847 v2 v K10765 S 436185 v 65 vD104 S 8 9 109 10
.- ¢KD10872 O 7 7 5 9 6 ¢ KDKn1065 ¢ 74 0897538 ¢+ D94 48653 O5 42 43
#D10752 #E6 V775986 #E43 «D976 V897538 «KD10 #9643 V54243
473 4 DKn8642 4 DKn98
vKD108 v EKn9 v EKKn97
49643 +9 ¢ 1072
#Knog8 #Kn108 *2
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
106 306 2v V-3 4A 300 87.0 -87.0| 1201 5¢ V-2 4T 100 42.0 -420| 6 206 4y S+1 4A 450 21.0 -21.0
2 202 44 V-2 44 200 60.0 -60.0| 2 202 3NDV-14T 100 42.0 -420| 1201 3NS+1 &4 430 9.0 -9.0
101 301 34 O-2 ¥vK 200 60.0 -60.0| 5 205 4¢DV-14T 100 42.0 -420| 5205 3NN+1 #7 430 9.0 -90
5205 2¢ O-1 &7 100 33.0 -33.0|105 305 3NO-1 «Q 50 26.0 -26.0| 2 202 4vS= &A 420 9.0 -9.0
1201 3y N-1 ¢K -100 -23.0 23.0(101 301 34 S-1 2 -100 -19.0 19.0| 3 203 4vy S= &A 420 9.0 -9.0
4204 INN-1 ¢Q -100 -230 23.0| 3203 3¢ V= 4T -110 -190 19.0| 4 204 4vy S= &A 420 9.0 -9.0
3203 24 V= a7 -110 -23.0 23.0| 4204 2¢ V+1 T -110 -19.0 19.0|101 301 4y S= &4A 420 9.0 -9.0
6 206 24 O= 48 -110 -23.0 23.0| 6206 3¢ V= T -110 -19.0 19.0|102 302 4v S= &A 420 9.0 -9.0
105 305 2¢ O+1 45 -110 -23.0 23.0(102 302 3¢ V= &T -110 -19.0 19.0|103 303 4y S= &4A 420 9.0 -9.0
102 302 34 O= &8 -140 -35.0 35.0(103 303 3¢ O= &T -110 -19.0 19.0|104 304 4y S= &A 420 9.0 -9.0
104 304 24 O+1 vA -140 -35.0 35.0(104 304 3¢ V= T -110 -19.0 19.0|106 306 4v S= &A 420 9.0 -9.0
103 303 3NN-2 ¢K -200 -55.0 55.0|106 306 2¢ V+1 «T -110 -19.0 19.0|105 305 4v S-1 4A -50 -111.0 111.0
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7 4 KD62 Basta kontrakt 8 4 D1095 Basta kontrakt 9 oK Basta kontrakt
Syd v E852 6v S =1430 Vast v ED10864 3v ND-1-100 Nord vKD104 7¢ N D -8 -2000
Alla + EKDKn Ingen *74 ov + 1098765
»5 & ¢ v & NT &K & ¢ v & NT *42 & ¢ v & NT
4 EKn5 410973 N 7 12128 9 & EKKN8 4642 N47 856 &« Kn « ED873 NOS5341
v1043 vKn7 S 7 12121011 v 97 v KKn3 S47856 vE73 v 965 S05341
¢652 +98 06 1122 462 + D83 085586 ¢EKDKn ¢4 O 138 109 12
D976 #K10843 V61122 #E8652 #DKnl103 V85586 #DKn753 #EK106 V 138 109 12
484 473 41096542
v KD96 v52 v Kn82
+ 10743 + EKKn1095 +32
#EKn2 *974 #98
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
4 204 6y N= &T 1430 117.0 -117.0( 4 204 3NO-3 +J 150 55.0 -55.0|106 306 5# V+2 4K -640 126.0 -126.0
103 303 6vy S= 46 1430 117.0 -117.0( 3 203 2v N+1 #Q 140 55.0 -55.0| 5 205 3NV+3 5 -690 110.0 -110.0
104 304 6y S= #A 1430 117.0 -117.0( 1 201 2v N= &#Q 110 450 -450| 6 206 3NV+3 ¥vK -690 110.0 -110.0
1201 4v S+2 v3 680 -36.0 36.0| 6206 2y N= &Q 110 45.0 -45.0(104 304 3NV+3 T -690 110.0 -110.0
2 202 4v S+2 #7 680 -36.0 360 5205 44V-1 ¢7 50 27.0 -27.0| 3 203 6#V+1 vK -1390 3.0 -30
3203 4v S+2 v3 680 -36.0 36.0(102 302 24 V-1 &7 50 27.0 -27.0|101 301 6# V+1 vK -1390 3.0 -3.0
101 301 4v S+2 &7 680 -36.0 36.0(106 306 3v N-1 #Q -50 1.0 -1.0(103 303 6# V+1 ¥vK -1390 3.0 -3.0
102 302 4v S+2 v3 680 -36.0 360 2202 4¢vy N-2 #Q -100 -140 14.0|105 305 6#V+1 ¥vK -1390 3.0 -30
105 305 4v S+2 &7 680 -36.0 36.0(101 301 2v N-2 #Q -100 -140 14.0| 1201 7#V= vK -2140 -117.0 117.0
5205 4v S+1 v3 650 -45.0 45.0(104 304 4y N-3 #Q -150 -29.0 29.0| 2 202 7#V= «vK -2140 -117.0 117.0
6 206 4v S+1 &7 650 -45.0 45.0(103 303 3NV= ¢A -400 -89.0 89.0| 4 204 7#V= «vK -2140 -117.0 117.0
106 306 4v S+1 #7 650 -45.0 45.0(105 305 4vDN-3&Q -500 -109.0 109.0 (102 302 7# V= K -2140 -117.0 117.0
10 4753 Basta kontrakt 11 » EK864 Basta kontrakt 12 & K92 Basta kontrakt
Ost v 1082 4ANT O =-630 Syd v2 5NT S =460 Vast v EDKn74 2NT N =120
Alla 498532 Ingen ¢ DKn54 NS + 1096
#EK & ¢ v & NT #E109 & ¢ v & NT #EKn & ¢ v & NT
« ED6 4KKn1082 N 4 4 6 2 3 aDKn5 42 N 116 4 1011 48754 4106 N8 7 7 88
vD4 vE75 S446 23 vK9864 ¥DKnl075 S 116 4 1011 v2 v K10965 S87 7 88
¢ EKn74 ¢ KD 09 8 6 1010 + K6 ¢ E10982 0169 22 ¢ K85 ¢ DKn74 O565 44
#10752 #Kn64 vV 9 8 6 1010 #432 »76 V162922 #K6432 #D9 V56544
494 410973 & EDKn3
v KKn963 vE3 v 83
+ 106 +73 ¢+ E32
D983 #KDKn85 210875
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1201 44 0= ¢T -620 6.0 -60| 1201 44N= ¢Q 420 10.0 -10.0| 1 201 3NN+1 ¥3 630 110.0 -110.0
101 301 44 O= T -620 6.0 -6.0| 2202 44 N= ¢Q 420 10.0 -10.0| 6 206 3NN= ¢Q 600 107.0 -107.0
102 302 44 O= 48 -620 6.0 -6.0| 3203 44 N= vQ 420 10.0 -10.0|101 301 3NN= #Q 600 107.0 -107.0
103 303 44 O= T -620 6.0 -60| 4204 44 N= ¢Q 420 10.0 -10.0| 2 202 3NS-1 &2 -100 -36.0 36.0
105 305 44 O= ¢T  -620 6.0 -6.0| 5205 44 N= ¢Q 420 10.0 -10.0| 3 203 3NN-1 ¢3 -100 -36.0 36.0
5205 3NV+1 #K -630 60 -60| 6 206 44 N= 2 420 100 -10.0| 4 204 3NN-1 46 -100 -36.0 36.0
2 202 44 O+1 T  -650 -6.0 6.0|101 301 44 N= vQ 420 10.0 -10.0| 5205 3NN-1 ¢7 -100 -36.0 36.0
6 206 44 O+1 v3 -650 -6.0 6.0 102 302 44 N= vQ 420 10.0 -10.0|102 302 3NS-1 ¢7 -100 -36.0 36.0
106 306 44 O+1 ¥3 -650 -6.0 6.0|104 304 44 N= vQ 420 10.0 -10.0|{103 303 3NN-1 ¢4 -100 -36.0 36.0
3 203 3NV+2 ¢3 -660 -6.0 6.0 105 305 44 N= vQ 420 10.0 -10.0|{104 304 3NS-1 +4 -100 -36.0 36.0
4 204 3NO+2 v6 -660 -6.0 6.0|106 306 44 N= &7 420 10.0 -10.0 {105 305 3NN-1 ¢7 -100 -36.0 36.0
104 304 3NO+2 ¥3 -660 -6.0 6.0|103 303 54 N-1 vQ -50 -110.0 110.0|106 306 3NN-1 ¢4 -100 -36.0 36.0
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